Calculus page 395 ff

l T 7T 7T

) f (1— coszx)dx=f (sinzx)dx=f (l—lcos2x)dx
0 0 ol2 2

E—lsian = E—lsin2a'c - g—lsin2(0)

2 4 . 2 4 2 4

i
2

2) /3 /3 %)
f lseczt—(—4sin2t) a’t=lf sec’tdt +4 l—lc052t dt
73\ 2 2J a3 w2 2

/3
=%[tant]m3 +[2t]m3 —4[isin2tl

-nt/3

RESEETE R

1 4n (V3 [ 3)] 4=n
=5(‘E‘(“6))+?‘(7'('7D=?
3) |
L= )= |22 3= t0-0)- 5
' 37 4] 7374 12
K f;(12y2—12y3—(2y2—2y))dy=4y3—3t4—2—;/3+y20
=(4-3-§+1)-(0-0-0+0)=§
5)

2 3 57T
f (2x2—(x4—2x2))dx= 4i—x—
2 3 5 .
_(32_.32) (32 _(_32))_64 _o4_128
3 5 3 5 3 5 15

1 3 5 !
6) f (x2+2x4)dx= x—+2i
1 3 5 N



9)

10)

11)

12)

13)

1 2 ) 2 2 371 3T
f x- dx+f I P A Y PR
0 4 1 4 2 120 121

_(r_r _(0_0)_,_ 2_§ B 1 i_,_ﬂ_E:é
2 12 12 12) 12 3 12 6

-2

oo e

V=x+3=>x=y"-3 y=2x3x=%y

y2—3=%y:>2y2—y—6=O:>(2y+3)(y—2)=O:>y=2,—%
fz 1 ~(y*-3)|dy = VY s 2
-3/2 2y Y Y 3 y_3/2

126 [ o[22 s B[ 22 g 046
3 16 &) 2) 3 16) 48

f_oz(2x3 -x’=5x- (—x2 + 3x)) dx + foz(—x2 +3x - (2x3 -x' - Sx)) dx

0 2

+ 4)62—)6—4
2

-2 0

=(0-0)-(8-16)+(16-8)-(0-0)=16




14) f;l(_x+2_(4—x2))dx+ le(4—x2 —(—x+2))dx+ f;(—x+2—(4—x2))dx

2 37! 3 2 P 2 3
S P PRI I B . I LI, PO
2 3 , " 2

e L TN

7 (2) 10 (7} ( 3) ( 10) 14 22 3 49
=——|-—=|+—-|-——=|+|—=|-|-——|=—+—-==—
6(3)3(6)(2)(3)6326

15) 22— x'-d4=x=x2

3

f_ 22(2 - (3 ~2))ax - [4x _ x?[

_(g_ 8| |_g_[-8)|=t6_[_16)_32
3 3 3 3 3
16) 2x—x2=—3=>x2—2x—3=03(x—3)(x+1)=0=x=3,—1

jj(2x—x2 —(—3))dx =[x2 —%3+ 3x

=(9-9+9)-(1-(-%)-3)=9-(-§)=%
7-2x"=x*+4=3x"=3=>x=x1
f_ll(7—2x2—(x2+4))dx=[3x—x3]l_l

= (3-1)-(-3-(-1))-4

3

17)

18)
x4—4x2+4=x2=>x4—5x2+4=0=(x2—4)(x2—l)=>x=il,12

f_;l(xz—(x4—4x2+4))dx+f_ll(x4—4x2+4—x2)dx+ﬁz(xz—(x4—4x2+4))dx

3 5 -1 5 3 1 3 5 2
=[51_x__4x] [_574] +[5i_x__4x]
_2 -1 1

38 (16} 38 38 16 38) 120
=—-|—=|+=-|-—=|+|-—|-|-—=|=—=8
15 \15) 15 15 15 15 15



2 2 2 2
xVa —-x"=0=x=0,a-x"=0=x=a

a
2 2 2 2
f xVa =x"dx u=a -x" du=-2xdx

0

0 0
_lf \/;du=—l%u3/2 =_l 2(0)_2613 =la3
2Ja 2|3 e 213 3 3

#19 does not match the book answer...that is because the BOOK IS WRONG!
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—36 is an extraneous result
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